Alfa Romeo Challenge 2011 KANSAI Rd.3 & Kyusyu Rd.3

ETCC Vol.11 Sprint , VWA-Cup & Trial o ']L;@‘f
s

—_ o ARCA
RACE-B / 7 S RRIREIBLL (GREO+REQ)
2011.10.16
fILEMEY—F v k 3.703km
SR &=
WEIER BEFE K34 /3— ETIL EE2 DlE___ lE SEtIERI S
1 2 IR FE 156V6/3. 2 14156 1 + 2 x08 =26
2 1 BR HF GTV/3.2 UNICORSE GTV 2 + 1 x08 =28
3 16 BB EA 156V63k/3. 2 4% 5-1561220t1 3 + 4 x08 =62
4 55 B B 156GTA/3. 2 unicorsel156GTA 4 + 3 x0.8 =6.4
5 99 KA B 147GTA/3. 2 NEWEST 147120t 5 + 5 x08 =90
BEIER EE S A /13— ETIL HZ QIE__ liE BEIER &
1 215 WHE  KER Lotus I3y 1zt n-4215YSE 1 + 1 x0.38 =1.8
2 206 =H A Tommykaira r3-h4522 2 + 2 x0.8 =3.6
MR300 ¢=
BRIEN BE S A /13— ETIL E2 QIE__ liE BEIER &
1 1 ¥ EN 156GTA/3. 2 CORSAUTO-156GTA 1 + 1 x08 =18
2 70 M Bz 156V6/2. 5 KGFG156 3 + 2 x08 =46
3 19 B) B2 156TS/2.0 ANDARE156 2 + - x08 =@&48
SR
BEIER EFE S A /13— ETIL E2 QIE__ liE BEIER S
1 27 AT 155V6/3.0 K2k -y155 1 + 2 x08 =26
3 INFE EEiS 1562%/3. 2 K2a%" -YSPL156 -+ 1 x08 =98
VWA-Cup class-0
BEIER EFE FSA/3— ETIL HA @lg_ lE AEIER S
1 5 hE RE W Golf5 BASIS GOLF5 GTI 1 + 1 x08 =18
SR2 ==
BEIER EE FSA/3— ETIL HA @lg_ lE AEIER S
1 4 #BA T 145T$/2.0 127" YAF -9DXL Ryo 1 + 1 x08 =138
2 92 #E BEXE 14575/2.0 Verzinol45ARET ABR 2 + 2 x08 =36
BEIER EE FSA/3— ETIL HA @lg_ QlE AEIER S
1 201 $iE EE Porsche944 Prosper944/> L CUP 1 + 1 x0.8 =1.8
BEIER EE FSA/3— ETIL HA @lg_ lE AEIER S
1 210 o & BMW E36 B L& i sHIEENUTEC 1 + 1 x08 =138
2 217 - F BMW 318is SSROUTE1ELE#F is 2 + 2 x08 =36
3 205 =F; 33 Tommykaira 3 + 3 x0.8 =5.4
4 216 ]®OFAR BMW 318is 4 + - x08 =@2
MR200 ¢=
BEIER EE FSA/3— ETIL HA @lg_ Qlig BB S
1 72 =4 B 145T8/2.0 K-ENG145CRG 1 + 1 x08 =138
2 84 aE &5 145TS/2.0 FA+E&N 9-1451220t 2 + 2 x08 =36
3 88 #FE EX 14778/2.0 DIXCEL 147 3 + 3 x08 =54
AR150-1 =) ‘ _
BEIER EE ESA /13— ETIL EX3 DIE__ Qlig BEIER S
1 45 g fEz 147GTA/3.2 CLRA/NUEEEA14Ths 1 + 2 x 0.8 =26
2 69 Nl g 156GTA/3. 2 CLRL-YY%" 156GTA 2 + 1 x08 =28
3 33 wH & 156GTA/3. 2 12204156P0J 3 + 3 x08 =54
4 62 KE Fih 147GTA/3.2 K-ENG#CRG147 4 + 5 x08 =80
5 50 = 147GTA/3.2 BADZR147GTA 5 + 4 x08 =82
AR150-1 iy
BEIEE BHE N A ETIL HE QDE _ QliE SETIERL =
1 51 fEE B 156GTA/3. 2 Serpai0156donel 1 + 1 x08 =138
HTA300 =
BEIEE BHE N A ETIL HE QDIE__ QliE SETIERL =
1 59 &I R $/3.0 b 4YSZ 1 + 1 x08 =138
BEIEE BHE N A ETIL B QDIE__ QliE SETIERL =
1 203 R RE Renaul ty)# W =h)thy 7 1 + 1 x0.8 =1.8
2 211 MR BMW 318is AN yNELLE i sHIEE 2 + 2 x08 =36
3 207 B B BMW MINI 0-zinR53SPL 3 + 3 x08 =54
BEIER BEE K54 /1\— ETIL B Dl IE SEHIERL =
1 202 Bt #2 BMW 318is ERHINTH57° 318is 1 + 1 x08 =138
HSR =
BEIER BEE FS A4/ — ETIL EX3 Dl IE BEtIES S

1 28 ER a8 1750GTV MR AY7+VR1750GTV 1 + - x0.38 =(1.9)



